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Autofac,
WebApplicationFactory
and Integration tests
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1 ‘ Install-Package Autofac
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using System;
using Autofac;
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public interface IService

{

void Execute();
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public class ServiceA : IService

{
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public void Execute()

{
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Console.WriteLine("ServiceA is executing.");
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public class ServiceB : IService

{
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public void Execute()

{
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Console.WriteLine("ServiceB is executing.");
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public class ServiceConsumer

{
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private readonly IService _service;
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public ServiceConsumer(
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[KeyFilter("ServiceB")] IService serviceB,//ifidKeyFilterf#iE A

[KeyFilter("ServiceA")] IService serviceA,//ifHifKeyFilter
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IIndex<ServiceA, IService> serviceAl,//i#ilIIndexZ 5]\
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IIndex<ServiceB, IService> serviceBl,//iHifIIndexZ 5|7\
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IEnumerable<IService> services//i/i A4 ilisc il
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_service=serviceA;
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_service=serviceB;
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_service=serviceAl;
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_service=serviceBl;
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public void UseService()

{
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_service.Execute();
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class Program

{
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static void Main()

{

vl Ul
O 0

[=4=)

// B Autofac ZISMIEERS
var builder = new ContainerBuilder();
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builder.RegisterType<ServiceA>().Keyed<IService>("ServiceA");
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builder.RegisterType<ServiceB>().Keyed<IService>("ServiceB");
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// FEM ServiceConsumer 28
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builder.RegisterType<ServiceConsumer>();
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var container = builder.Build();
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var serviceConsumer = container.Resolve<ServiceConsumer>();

NN
B~ W

serviceConsumer.UseService();
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